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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Read the passage given below and answer the questions that follow, based on your
understanding of the passage :

The Guild (Sréni), a form of industrial and mercantile organisation which played as big
a part in the economy of ancient India as it did in that of most other ancient or medieval
civilisations. There are faint and uncertain references to some sort of guild organisations
even in vedic literature, and by the time of composition of the Buddhist scriptures,
guilds certainly existed in every important Indian town, and embraced almost all trades
and industries - we even read of a guild of thieves.

The Guild united both the craftsmen’s cooperatives and the individual workman of a
given trade into a single corporate body. It fixed rules of work and wages, and standards
and prices for the commodities in which its members dealt, and its regulations had the
force of law and were upheld by the King and Government. Over its own members,
the guild had judicial rights, which were recognized by the State. A guild court could,
like a caste council, expel a refractory member, a penalty which would virtually preclude
him from practising his ancestral trade and reduce him to beggary. We read in Buddhist
literature of Guild Courts settling quarrels between members and their wives and the
rules of the Buddhist Order lay down that a married woman may not be ordained a
nun without a consent of her husband and his guild. Thus the guild had power not
only over the economic, but also over the social life of its members. It acted as guardian
of their widows and orphans, and as their insurance against sickness. Its powers and
functions in this respect were very similar to those of caste councils in more recent
times, and, though some authorities would disagree with us, we cannot but conclude
that the guilds played an important part in the evolution of trade castes.

The Guild was headed by a chief usually called the “Elder” (jyeshthaka, in pali jetthaka),
who was assisted by a small council of senior members. The office of elder was usually
hereditary and held by one of the richest members of the guild. In the pali scriptures,
the Elder is invariably described as a very wealthy man, often with much influence at
the palace, and counselling the king himself. The Guilds had a corporate life, symbolized,
as in medieval europe, by the possession of banners, and also of chauris, the ceremonial
yak’s tail fly-whisks which bear insignia of nobility. These and other emblems were
sometimes granted by royal charter, and were carried in local religious processions by
the guildsmen. Some guilds again like those of medieval Europe, had their own militias
which served as auxiliaries of the kings” armies in time of need.

1.  The author is mainly concerned with :

(A) a discussion on the origin and development of the guild system
B) the Constitution and functions of the guilds
the judicial powers of the guilds over their members

)
D) the role of guilds in the socio-economic life in ancient India
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10.

11.

According to the author, the principal role played by the guild was :
(A) to act as guardian of the widows and orphans

(B) to fix rules for work and wages

(C) to make regulations for the members of the guild

(D) to help the growth of trade and commerce

The term “Elder” (jyeshthaka) signifies :
(A) a rich merchant (B) an elected merchant
(C) a hereditary and wealthy merchant (D) a selected courtier

Which of the following was not used as a symbol of the guild ?
(A) chauris (B) militia (C) Dbanners (D) insignia of nobility

The tone of the passage is :
(A) laudatory (B) analytical (C) descriptive (D) critical

Which of the following Harappan sites has yielded evidence of furrow marks in
cultivation ?

(A) Lothal (B) Banavali (C) Kalibangan (D) Dhaula Vira

Which of the following is not related to the vedic period ?
(A) Sabha (B) Samiti (C) Dharmasana (D) Vidatha

The theory of syadvada is associated with :
(A) Buddhism (B) Jainism
(C) Sankhya philosophy (D) Vedanta philosophy

Which of the following inscriptions refers to the erection of a Garuda Pillar by a Greek
national ?

(A) Eran Inscription (B) Sanchi Inscription

(C) Besnagar Inscription (D) Bharhut Inscription

The Gupta rulers had established matrimonial relations with a number of royal families.
Give the answer as per the code.

(a) Vakatakas (b) Lichchhavis (c) Nagas (D) Sakas
Codes :

(A) (a), (b) and (c) (B) (b) and (d)

(©)  (a) and (b) (D) (@), (b), (c) and (d)

Who among the following, granted for the first time, fiscal and administrative immunities,
to the Buddhist monks ?

(A) Gautamiputra $atakarni (B) Asoka
(C) Hala (D) Yajﬁa $atakarni
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12.

13.

14.

15.

Which of the following statements is true about the Kushana period ?
(A) issue of silver coins on a large scale

(B) flourishing of the Gandhara School of Art

(C) patronage of Amarsimha

(D) extension of the Kushana empire upto Bengal

Match List-I with List-II and select the correct answer from the code given below :

List-I List-1I
(a) Harsha (i) Harshacharita
(b) Vijiianes$vara (i) Samarangan Sutradhara
(c) Bhoja (iii) Priyadarsika
(d) Bana (iv) Mitdkshara
Code :
@@ (b) (o) (d)
@) O @) v (i)
B (i) (@) () 0
© (@) (v @) O
O () ) @) @)
Match List-I with List-II and choose your answer from the code given below :
List-I List-1I
(a) Nivartana (i) atax
(b) Kara (i) a gold coin
() Sulka (iii) a toll
(d) Gadyéana (iv) Land revenue
Code :
(@ (b) (o) (d)
(A) @ @) 3D @)
(B) (@v) (@) () ()
© @@ @ (@v) (i)
(D) @) @Gv) @& ()

Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :

Assertion (A) Indo-Roman trade activity declined in the 3rd-4th century A.D.

Reason (R) : Brahmanical ascendancy in society led to the restrictions on
sea-travel.

In the context of the above two statements, which one of the following is correct ?
Code :

(A) (A) is correct, but (R) is wrong (B) Both (A) and (R) are correct
(C) (A) is wrong, but (R) is correct (D) Both (A) and (R) are wrong
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12.

13.

14.

15.
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16. According to Ziauddin Barani the nobles of which of the following sultans were always
heavily in debt to the great merchants and money lenders of Delhi ?

(A) Balhan (B) Jalaluddin Khalji
(C) Ghiyasuddin Tughlaq (D) Muhammad Tughlaq

17. Match List-I with List-II and select the correct answer from the code given below :
List-I List-11I
(@) Alaud-Din Khalji (i) His policy of increasing agrarian taxation led
to a peasant revolt

(b)  Ghiyas-ud-Din Tughlaq (i) He introduced the system which later on came
to be called as kankut

() Muhammad Tughlaq (iii) He abolished most of the agrarian cesses
imposed by his predecessors

(d) Feroz Tughlaq (iv) He gave concessions to khuts and mugaddams
Code :
@@ (b) (9 (d)
(A) @O @) G@ )
B @ @ Gv) ()
© @O (Gv) @) (@)
(D) @) (v) @ (i)

18. Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :

Assertion (A) : Mohammad Tughlaq was the first sultan to visit the tomb of
Muinuddin Chishti at Ajmer.

Reason (R) : He was a strong believer in mysticism.

In the context of the above two statements, which one of the following is correct ?
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

19. Arrange the following in descending order to depict the hierarchical structure of the
rural society. Select the answer from the code given below :

(i) khuts and mugaddams (i) reza ri‘aya
(iii) ra'is and ranas (iv) balhars
Code :

(A) (), (i), (i), @) B) (i), (i), (i), )
(©) (i), i), (i), (v) (D) (i), (i), (), (i)
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16.

17.

18.

19.
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20.

21.

22.

23.

24.

The institution of slavery underwent a perceptible decline after the :
(A) 13th Century (B) 14th Century
(C) 15th Century (D) 16th Century

Match List-I with List-II and select the correct answer from the code given below :

List-I List-1I
(Vijayanagara ruler) (Period)
(a) Harihara II (i) 1406-1422
(b) Devaraya I (i) 1377-1404
(c)  Virupaksha II (iii)) 1503-1509
(d) Vira Narasimha (iv) 1465-1485
Code
(@ (b) (o) (d)
(A) @) @@ (Gv) (i)
B) @) () @@ Gv)
© @) @) @ )
(D) Gv) () (D) ()

Arrange the following in sequence in which they appeared, and select the answer from
the code given below :

(i) Abdur Razzaq (i) Bernier

(iii) Marco Polo (iv) Thomas Roe
Code :

(A) (@), (i), (@v), () B) (i), (v), (i), ()
(© (i), i), (iv), (i) (D) (i), (i), (), (i)

Who among the following Bahmani rulers shifted the Bahmani capital from Gulbarga
to Bidar ?

(A) Ahmad Shah (B) Firuz Shah
(C) Muhammad Shah II (D) Ghiyasuddin

Arrange the following in chronological order. Select the correct answer from the code
given below :

(i) Lal Darwaza Masjid (ii) Bafa Sona Masjid

(iii) Tomb of Ghiyasuddin Tughlaq (iv) Jami Masjid at Ahmedabad
Code :

(A) (), (), (i), (i) (B)  (iii), (iv), (), (i)

(©) (@), (i), @), (iv) (D) (), (i), (iv), (iii)
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21.

22.

23.

24.
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25. Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :
Assertion (A) : The medieval Indian culture bears deep imprints of Persian and Central
Asian traditions.

Reason (R) : Theruling class patronized only the Persian and Central Asian culture.
In the context of the above statements, which one of the following is correct ?
Code :

(A) Both (A) and (R) are correct, and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanationof (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

26. Which of the following is not correctly matched ?

(A) Battle of Chausa - June, 1535
(B) Death of Sher Shah - May, 1545
(C) Bairam Khan's regency - 1556 to 1560
(D) Treaty of Purander - 1665

27.  Which of the following was not a coin ?
(A) muzaffari (B) mubhar (C) anna (D) do dami

28. Arrange the following in chronological order, and select the correct answer from the
code given below :
(i) Introduction of the dagh system
(ii) Introduction of the dual rank (zat and sawar)
(iii) Creation of twelve subahs (provinces)
(iv) Introduction of the dahsala system

Code :
(A) (1), (i), (iv), (i) (B) (i), (), (iv), (iii)
(©) (i), (iv), (i), (i) (D) (D), (iv), (i), (i)
29. The zabt system was established in the Deccan in the later years of Shahjahan’s reign by :
(A) Murshid Quli Khan (B) Shahji Bhosle
(C) Danishmand Khan (D) Diler Khan

30. Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :
Assertion (A) :During the first half of the Eighteenth century the Maratha
confederacy achieved its zenith of power ruling over vast territory in
western, central and northern India.

Reason (R) : The Rajputs supported the Marathas against the Mughals.
In the context of the above two statements, which one of the following is correct ?
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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25.

26.

27.

28.

29.

30.

= < geeT fed T3 R, T Rl B (A) FHE T 7 3R T H FRO (R) :

HAT (A) :  HADCH TR GEpid W IR e i qugsti 6 Tl 9 B
HROT(R) : M9k ol A hael ST IR Te U Heapta st weemr oo

SR < gl & gy # Frefafead § @ s 98t 872

e

(A) (A) 3R (R) THI T B, a4 (A) T W& ===AT (R) T

(B) (A) 3R (R) T T 7, AN (A) T Tl =AM (R) T 2|

Q) (A) W& fohg (R) TTe1d R |

(D) (A) 7o & foheg (R) 92T 1

ﬁmﬁrﬁaaﬁ@ﬁwaﬁgﬁﬁﬁﬁ%

(A) = H IS 34, 1535

(B) IRIE &l Ig - W, 1545

(C) SRHEM 1 Yfqeme= - 1556 ¥ 1560

(D) T I HiYy - 1665
frfafaa § @ St faw T2 %2

(A)  HTERT (B) dAX () < (D) <<
Frefafad =l Herghd § =areed o iR 98 W H 99 A 5 T Fe H § H
(1) TRT 9T T S AT (i) < UE (S SR FEAR) I T HE
(ili) =G Al ! T (iv) SRETCT 9 hl ST e

C

(A) (@), (i), (), (i) (B) (i), (1), (iv), (iii)
(©) (i), (v), (), (i) (D) (@), (iv), (i), (i)

VESTEl % WA Shicl o Tsel el § Sed 901 sl <faqor § forden gru <enfud feran w2
(A) R Foft T= (B) V&S Hreer
(C) <IfemeE @M= (D) feer @M

o < gaqed fed T €, U ht HUT (A) FE T T, SR GE B BRI (R) :

HYT (A) :  STOREd! WA o YA H HIS HY U VIR hi TS O o SR ufv=,
7 3R 3T YR o &5 TR SHH T o |

®ROT(R) :  O5gai A el o foaeg #3el o1 qHeH foha |

ST T Tl & e | Fr=fafed § 9 s 98t 72

(A) (A) 3R (R) THI T B, a0 (A) T W& ==AT (R) T
(B) (A) 3R (R) THI T&l ¥, T (A) F1 Wl == (R) Tl €1
Q) (A) W& fohg (R) TTea R |

(D) (A) 7 & foheg (R) 92T R
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31. Given below are two statements, one labelled as Assertion (A), and the other labelled
as Reason (R) :

Assertion (A) The social, self respect ideological struggle of the Justice Party
was to uphold their numerical majority in the society.

Reason (R) : The leaders of the Justice Party tried to fight and lead the
Non-Brahmin movement.

In the context of the above two statements, which one of the following is correct ?
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true

32. Give the chronological sequence of the annexation of the following States by the British :
(A) Bengal, Marathas, Mysore, Sikhs (B) Sikhs, Bengal, Marathas, Mysore
(C) Bengal, Mysore, Marathas, Sikhs (D) Mysore, Bengal, Marathas, Sikhs

33. Which is the correct chronology of the following ?
(i) Bombay Darpan of Balasastri Jambekar
(i) Amrit Bazar Pataika of Sisir Kumar etal
(iiiy Marathi of Balagangadhar Tilak
(iv) Digdarshan of Balasastry

Codes :
(A) (i), (iv), (), ) B) (i), (i), (i), ()
© (), (i), (iv), (i) (D) (i), ), (v), (i)

34. Match the following Magazines / Newspapers and their Editors :
(a) Dinabandhu (i) Dadabai Nouroji
(b)  Voice of India (i) Manmohan Ghosh
() The Statesman (iii) Jyotiba Phule
(d) Indian Mirror (iv) Robert Knight
Code :

@@ (b) (o) (d)
A) @) @) @) 6
® G @ @)
© (v @ @)
O O @) @ W)
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31. = I g5 fed T €, T H FUF (A) Fel T E, 3T TE H BRI (R) :
HAT (A) : SN U & A HANE! § WA SATCHEHN 39 R 4R o o v
T % ST AT SgHd ohl HIFH W |
HROT(R) :  SIE[eS U & Al TR-SIRIV TS ol Agedl ST =9red 9 |
ST < gl & g § frefafed § 9 s 98 €2
e
A) (A) 3R (R) ST W B, TAT (A) T WS A (R) B
B) (A) 3R (R) <M W&t ¥, fheg (A) T Tl =ame (R) & 2
Q) (A)¥& T forg (R) o T
D) (A) 7o ® fog (R) W& T

~"

(
(
(
(

32. Tr=fafea T w1 Siusi A forg fafosem o gew an?
(A) dTd, TS, T, faa (B) fowm, s, TS, TR
(C) dmd, IR, Te, faa (D) W, s, TS, fom

33. Trfafea o @@ fafessa =0 82
(i) SIS STFeihT 1 o= Ul (i) TORR FHR =Y q&1 311 3Td SIS fAeht

(ili)  STERIMER faeteh o1 w02 (iv) St = faeeE
C

(A) (i), (iv), (i), (i) (B)  (iv), (iid), (ii), ()
(©) (i) (i), (iv), (ii) (D) (i), (), (iv), (iii)

34. frAfafEd ufeRd / GU=R 951 i 3% THeHh o gaferd iy :
(a) Y (i) TR e AR
(b) dIEE 3T sfoe (i) FHREA =
() W™ (iii) SfET B
(d) dfem fa (iv) T e
C T

>

)
B

C

~—

(
(
(
(

S o
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35.

36.

37.

38.

39.

40.

Match the movements / organisations in the princely states with the leaders / princely
states and select the correct answer from the code given below :

List-I List-II

(a) Nizams subjects League i)  Bahdur yar Jung

(b) Sivapura Satyagraha ii) Nizamat Jung Bahdur

(c) Majlis-i-Ittehad ul Musalmeen party iii) Travancore State

(d) Punnapra Vaylar Satyagrara iv) Mysore State

@ B © @

(A) @) (v) (1) (D)
B @ G @) (@)
(© @) @) @) Gv)
(D) Gv) (@) @) ()

Match List-I with List-II and indicate the correct answer from the code given below :
List-I List-II

(a) Codification of Indian Laws (i)  William Bentinck
(b)  First Governor General of India (i) Lord Irwin

() Second Round Table Conference (iii) Lord Canning
(d) The Last Governor General of (iv) Lord Macaulay

British India
Code :

@ () () (d)

(A) (@) (D) () (@)
(B) @) (v) () (i)
(© () @ (v) (i)
(D) Gv) @ () ()

‘Paramountcy is Paramount’ is the statement in the preamble of :
A) Simon Commission (Indian Statutory Commission)

B) Butler Commission (Indian States Commission)

C) Hunter Commission (Indian Education Commission)

D) Cabinet Mission

One of the following is not a colonial historiographer.
(A) Judith Brown (B) A.L. Basham  (C) Anil Seal (D) V.A. Smith

‘Ryothu Rakshana Yatra’” from Ichapuram to Madras in the Madras presidency was
organised in 1937-8 by :

(A) Indian National Congress (B) Andhra Peasants Association
(C) Kisan Sabha (D) Communist Party

Which of the following is not correctly matched ?

(A) Surendranath Banerjee - India Today

(B) Jawaharlal Nehru - Discovery of India

(C) Subhash Chandra Bose - Fight for Freedom

(D) Pattabhi Seetharamaiah - History of Indian National Congress
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37.

38.

39.

40.
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-1 (T T B SIS / Frel) ol gHferd -1 (ST T o Aa1) ¥ Fifee 3ik =
e T e © ST I A FIA HIN

i1 TqEi-11
(a) TI5m Testaey & (i) =R AR ST
(b) TerETgU TEmE (i) TISTHA ST SR
() wSifcrE-3-3faeet queHa el (iii) SRR TA
(d) A9 AEAR TN (iv) TRTA
C

@@ () (o) (d)
(A) () (v) (@) (i)
(B) (1) (@) (D) (iv)
(©) () (@) @ ()
(D) (v) @) G @)
-1 6 FE-11 1 Gafera SIS a1 = i T e § 19 I 1 =99 FiT

I -1

(a) YR HA Hiedmeso () fafeem sAféw
(b) RA % TUH TR STRA (i) e oA
() fedta et o= weiem (iii) TS HfHT
(d) fofes Fefa 9Ra & oifqq TaR-SRa (iv) S Hebiat
e

@@ (b)) () (d)
(A) (1) (D) () (iv)
(B) () (v) (@) (i)
() () (@) (v) (i)
(D) (Gv) @) @) (i)

" gl T waie §', I8 e fohdeh STHE § §7?
(A) AT HiaeH (fead woel wiHer)

(B) iR shiteH (Sfea W i)

(C) TR HHYA (e TIheF i)

(

D) hfade #efia
frefafad § 9 T siufafes siiemesr =6 ¢
(A) Sfed s (B) TUA.SM (C) e Hie (D) @, fy

‘EA IO AT HETE YiS § 3esI 9 He™ a9 (1937-38) fRun emifed it ot ?

(A) T TEE i (B) ity T TEIfEIRE
(C) T |e (D) HHRE U
Frefafea & & s Toa gafead fean = g2

(A) GEET" sl - ffewme

(B) STOTRIETE 8w - fewmall oifw gfen

(C) oY == 5| - TR TR hieH

(D) Ity Srareen - e ot Sfeem A e
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41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

Who among the following was not associated with Arya Samaj ?

(A) Dayananda Saraswati (B) Lala Hansraj

(C) Pandit Haradayal (D) Lala Lajpat Rai

One of the following was not associated with social reform movement.

(A) Behramji Malabari (B) Mohandas Karamchand Gandhi
(C) Iswarchand Vidyasagar (D) R.C. Dutt

‘Hind Swaraj’ was written by Gandhi while,

(A) travelling from England to India by ship

(B) in Sabarmati ashram

(C) travelling from England to South Africa by ship
(D) leading champaran satyagraha

The British took over the following area for the Payment of arrears for Hyderabad
contingency and retained it till 1947.

(A) Berar (B) Raichur, Osmanabad and Berar

(C) Ceded districts (D) Northern Circars

One of the following is not oral evidence :

(A) Interviews

(B) Tape Recording of events

(C) Private papers of individuals

(D) extracting oral evidence through coercive methods

Such judgements as :

“Facts are sacred, opinion is free” allude to giving primacy to :

(A) Facts over historian (B) Oral history over written history
(C) Interpretation over facts (D) Fact over fiction

Which of the following is not the secondary source ?
(A) Ashoka and the Decline of Mauryan Empire

(B) Peasant State and society in Medieval South India
(

(

C) Rulers, Townsmen and Bazars
D) Travels in the Mughal Empire

Humurabi’s code belongs to :
(A) Roman civilization (B) Greek civilization
(C) Babylonian civilization (D) Chinese civilization

The Russian Social Democratic Party was founded by :

(A) Karl Marx (B) Lenin

(C) Melenkov (D) George Phekhanov

Mustafa Kamal Pasha terminated the concept of theocratic state in Turkey in the year :

(A) 1927 (B) 1930 (€ 1925 (D) 1937
-00o0-

J—0605 18



41.

42.

43.

44.

45.

46.

47.

48.

49.

50.

freafafed 5 9 F 3 99 & 919 9eg T8l o ?

(A) TAF< FEEI (B) el IS

(C) Tdfed w&a™ (D) Tl ATSIad T
frfafead § 9 T TS GUR STiced | e T2 o 0
(A) RIS AT (B) BTG hir=r< TMef
Q) svaE= farmamr (D) SRHIT

Teft 7 ¢ fowg TRt Y AT T off 59 9% -

(A) FToIE | YR S § IR W 9|

(B) 9 I HIeIwd 71| H 9|

(C) TSI & WA $Teie | Sfequr STtent ST | 9|
(D) & 98 TFRA G ol Hgedl LR & |

frefafad § 9 A &9 §SUaTE hieTo=dt o Sehdl T & 7 3781 w T TSI gR 3iferenr
T Y feran T o 3R T® el 1947 T HEH E |

(A) SRR (B) THT, SEAMIEE Td 3RR

(C) dHiee fefigarey (D) ST TR
frefafad & & v Hifes ged 78 §

(A) &R (B) EAISA! Wl TURGHTE

(C) =afsi o fsit - S8 (D) TAYANT ki § AiRgeh Hed Feheram
‘I A TR AT WAA R T URR F P A A A fru da R R A T 2
(A) sfaeraesrrl W a=l (B) fafaa sfoem w wifew s

(C) qeA W AT BT (D) fHem wa=i =

Frefafad # § SiTe w f5da Hife & i T2l © 2
(A) ‘TRt Ue <t feaamea oifw HRdA TR’

(B) ‘diSie Wz Ug AR 31 Hfsfaa wee sfvean’
(C) Fad, sfrea Iaid te s

(D) “sfored &7 < e T’

TSl o 9 fohe |eardr & 972

(A) I T G (B) TE ! A

(C) J&Tel st el (D) <9 i Fera

&9 H HINIeT SHIshfesh et bl TIAT fhe ot off 2

(A) e AT (B) wfm (C) Hfera (D) ISt ThepHE
T H GHATIh T5F ol IR HATA e A ford ad & wara fopam e ?

(A) 1927 (B) 1930 (C) 1925 (D) 1937
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